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Please showLyQur work.

I. (25 pts) One in four adults say he/she has no trouble sleeping at night. You randomly
select five adults and ask if he/she has no trouble sleeping at night.

a)(15 pts) Construct the binomial probability distribution (for this sample of five adults,
where x represents the number of adults that have no trouble sleeping at night).
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b) (5 pts) Find the probability that the number of people (from this group of five randomly
selected adults) who say that they have no trouble sleeping is at most 2.
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c) (5 pts) Find the mean and standard deviation for this biDmial distribution.
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2. (15 pts) Use the Standard Normal Distribution Table to find:

a)P(0.27<<l.24) — — ?5.O64

Answer 1 -/ -‘ /0

b) P(z<l .5 or z>l .74) P ( P ( I ? 4)
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3. (25 pts) A study found that the mean height of men (ages 20-29) s is 69.9 inches with a

standard deviation of 3.0 inches. Assume that the heights are normally distributed.

a) (10 pts) Find the probability that the height of a randomly selected man (age 20-29) is

between 64 and 71 inches?
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b)(7 pts) If you randomly select 300 men (ages 20-29), about how many of them will be over

76 inches tall?
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c) (8 pts) Find the height corresponding to the 80h1 percet11e.
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4. (20 pts) The average number of cans of soda per day that each student drinks is given

below. Construct a probability distribution and then find the mean and the standard deviation

of the probability distribution.
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5. (15 pts) 1,500 raffle tickets are sold a4)each for4 prizes valued at $800, $600, $500, and

$300. You buy one ticket. What is the expected value of your gain/loss?
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